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IE 6 FEE4 T IN GROSS HDCP NET B EEL T IN GROSS HDCP  NET
2 B SR s 40 38 78 7.0 71.0 MG BER 2K 48 47 95 11.0 84.0
HERH AS R 40 39 79 80 71.0 4541 XH X 48 48 96 12.0 84.0
ML A BiEF 44 A1 85 12.0 73.0 464 2 ®UA 43 48 91 6.0 85.0
M EBF i 43 40 83 7.0 76.0 4761 2R Mth 47 46 93 8.0 85.0
S HIL =4 47 A1 88 12.0 76.0 484z EIR EFF 52 43 95 10.0 85.0
6 RAIJI e 40 37 77 0.0 77.0 BG 4941 1B/l B2 47 49 96 11.0 85.0
M XA Rl 42 39 81 4.0 77.0 5061 Kigf EF 43 54 97 12.0 85.0
86 Il = 39 44 83 6.0 77.0 514 185 1B 44 44 88 2.0 86.0
OfiL Mk AA 39 44 83 6.0 77.0 YAy % 48 45 93 7.0 86.0
106 # L+ IE(E 42 44 86 9.0 77.0 536G Ik & 51 44 95 9.0 86.0
1 &8 EfE 47 42 89 12.0 77.0 541 SFF R 46 49 95 9.0 86.0
1260 FHE =3 45 A1 86 8.0 78.0 5561 BH &Ik 49 49 98 12.0 86.0
13 #1lU FE 45 44 89 11.0 78.0 56 IUF = 43 48 91 4.0 87.0
1461 oK EZ 41 48 89 11.0 78.0 ST RS +CA 51 47 98 11.0 87.0
156 EH MHicF 46 44 90 12.0 78.0 58GL FFH  #EA 51 48 99 12.0 87.0
1662 Ml B5— 40 42 82 3.0 79.0 594 Mk R 47 49 96 7.0 89.0
17 /NE  FER 48 A1 89 10.0 79.0 606G FHI & 45 53 98 9.0 89.0
186 10 1HF 47 44 91 12.0 79.0 614 Fa)Il Mz 49 50 99 10.0 89.0
196 %R FEIE 42 46 88 8.0 80.0 6261 £H # 50 51 101 12.0 89.0
204 YEO  KEH 41 47 88 8.0 80.0 636 K% B 50 44 94 4.0 90.0
2162 3 =A 42 46 88 8.0 80.0 646 BT Fr— 49 47 96 6.0 90.0
2261 R HF 43 47 90 10.0 80.0 6541 ¥&E {HREA 51 51 102 12.0 90.0
2361 1L 2 46 45 91 11.0 80.0 666z Atk FEZ= 50 48 98 7.0 91.0
2461 R EiE 45 46 91 11.0 80.0 67461 T £ ERER 49 50 99 8.0 91.0
2561 €A BE 43 49 92 12.0 80.0 684 BA%r &k 55 47 102 11.0 91.0
2601 AR HER 42 45 87 6.0 81.0 694 Fik (£ 51 52 103 12.0 91.0
21 B B 45 44 89 8.0 81.0 106 == §F 52 51 103 12.0 91.0
2861 HRE ECIE 46 44 90 8.0 82.0 4L il B— 45 58 103 8.0 95.0
2961 210 E1T 44 47 91 9.0 820 1261 #i K FRB 53 54 107 12.0 95.0
304z 56H & 47 45 92 10.0 82.0 1361 #t £ &k 52 57 109 12.0 97.0
314z 5eH  fEAXER 48 46 94 12.0 82.0 TAGL Il AL 50 51 101 3.0 98.0
3201 gE = 40 45 85 2.0 83.0 1561 {EE 8k 58 51 109 11.0 98.0
33z B R 42 43 85 2.0 83.0 766 F¥ ZEH 51 59 110 12.0 98.0
4G BRE B 43 44 87 4.0 83.0 1L #27  15%8A 55 59 114 10.0 104.0
b ME RE 45 43 88 5.0 83.0 1861 F®R 3 52 59 111 5.0 106.0
366 A B 45 43 88 5.0 83.0
3L By F— 48 45 93 10.0 83.0
384z ##H E 49 44 93 10.0 83.0
396 M 40 47 87 3.0 84.0
406z 1IBIR RESE 43 49 92 8.0 84.0
M RF E—ER 40 52 92 8.0 84.0
4241 FRE % 47 46 93 9.0 84.0
436 'MEB FE 49 45 94 10.0 84.0



